1.

oheollA & W x @F y Afolefl Zgu] 2]

D x+y=4 @ y=2xx

2
@ y=1+x @y:§><x

—
jiL,

Al

o
Ji

o
g BE



= 5y 7Fx ol ArlEshs A 1=

© xxy=1 @ y=3xx ®y=1-x

@ y=3=+x ® y=3xx+1



3.

2 SolA y 7t x ofl AHldlotE A& I12A] Q.

® xxy=5

@ y=4-x

@ y=x+2

®y=2xx+3






= SolA RhelEehs AS A=A L.

SHES 11,2 12km 2 7He AFEAI} S L2 2 4 g
2] ykm
o] 2] 52] o] xem ¢ Ao] E] o] yem

170) 500 Y5t= @Al ] x|}t 1 gk y
337 9] SFFel A HE S x B} olst AL y

HO|7F 40 cm? Q1 AALA G| A 712 2] o] xem & A2 9]
o] yem

@

@ ® ©@ ©



